(1)

Trgonanchry leckoe Mok 2

4

ull T
ton b
LI | W

6 WU/‘&J in /‘A(J-'W)g (lﬂJLS‘IlL af 101'7_20\ m‘{; in mJ,’M M:Js)
- positire © indicades counter cockuise movemedt.

¥ ﬂlﬁmlfm 0 indicader cockwise moemut,
SinB murnles ‘H\L 1143#\ ,p ).'nz, &zjmzn‘t mem}J
In /to.( n I‘ﬁ.JI‘Mg UIN:}’S, (&j SinB = 0.9 mesns 0% J«f‘ao’/wg)
- Snb>0 Dg /E—oq L'nz, S‘ej/rw\'b s measives) 094/445%
positive. y-oxis,
- Sinb <O V£ //m Sejnwfb "5 mwu/tj adwf}sd. l‘ljﬂ}ﬂ&
Y=0X)S
- SinB #+ Sin-0 Fhis wouu )mz/tl)zem MR L,gs)
Rother Huis s & Comrrvm,]:(DOPm anSL + 6 R) Df‘o/o ,d-’q»)u
(3) messuwe the ILAjJL ol s kj/’\%t i radies wnts.



€
- Cu.B Jg@sn% e,x/://c,/rl/)/ S’/ec,’{:)/ wgexélm'c_ mm;}ouéz}zém
(;'e_ + %, /) Hait. w +o0 a Com/OIAj(aUll’on ’n Ferms o 6

Cos8 is to be, Lbnclz/‘S%ooJ Sim: larl .
_ S _ Vertical Sej”‘”‘g
'b&ﬂ g = Cos 8 Horrzontal &cjmp,-['

- by e,xq‘cnlfwg horl'zon'{’d szjm.v\f to 4 weﬁe)t a

ol Lo (1) _ Lnsé(1)
- 1Ton

Q weg‘}/'ms 20 conider

l) Cw; we ,P/nJ 3 /)o/ynom/w! [armu,(;\ ‘Huz.t LO/// wm/)u&
‘/‘Ag/ 1‘/‘/:7 pun(flll'on n 7"{/"7\& oﬁ 9,7

,,?,) b)/v/ rodien messwe 1 notws] a/,J Jzy/éz mesguwe, 150t !
)m/)ohl&n'é P/‘o/)_g/vtfe;s Fo/ 71'/‘/‘1 }')Mc,’)'i'bns

l) Sin s oJJ va‘ Cos 1 even Cos remaing Un
Sin(-8) Mmeswes euJath- wWhen 8 73 /‘&/Zaocp/ éy
the lujaztu/‘e. y—ex/s i {” \ —0,

)".M(L Sa'h(‘e) .

= -S/n(6) - S:'o%

Lt ﬁo”ouos ‘H\p% Sin, fm‘ Cse¢
Co‘}' ANe oJ,J.g,,\J Cos, Sec o

o o)




(3)
2) The % onddy cordimdes can be relkd o ffos

(reos®, 15in)
=(&-)"3>
Y ,
2"_'_. = (B = x=TrCsb T =508 FY=rind
Quextions

(c!) X I C,olo/‘e_J jfun’ SAUWU"‘# "7£ S/m/))/ bo Z'—:COSB.?
(b) Si"ma’laf/}/ )/ s —L- /\‘LJ SLOPJJ”‘% )’ S/'rn/’/y AC, }/:j’,},é?
) The blue crc is wﬂu “re’, wlvy N0t 2979 |
Think obout i} intersely betare louking Lp wohat 2 corotk.

hosurs  gromped = plooit) s 47 et 0 PAE
(@)= (c) of dpmn il wyp weuy SIDS-2 PVofivl I ¢

'S_IL/UW &n‘lf)v\/ u/ %US,' 7]’""35 7‘“._

3) B)’ p)’#\ﬂjo/b«sl‘#vm Cos%B + Sin%0 = 4 A pon cjl'V:'J/}lS

o R ' S/n@ 4
6%0«}' n Ly Cos™0 , we obfaun )+ ca_l_ge > g i
Make Swre you Se A1




()
Lf‘) Most 7Lr1'3 valnes, ore A'WM-H to @”’]”W‘Jﬁ- e—XﬂU%/.
Hevre, oure sesere] €7<U7’71/'MS' ;

i
V2 i
& 0
4
Sin (E)" Sl'ﬁ/ﬁtgo) =
- opp< 4 o N2
Hyp. = Vx =~

P ractia

@ Clawdsse.  Cox,Aon, Sec, Cse, Bt of &

() Whit ar Yo vohes of Fha six iy, PreneAtns

ot 1 At FT

Ee,mw/(: 2 hode mnemonics (e.y, Socaldlg, >,.<>' W you
id e i Hon Jou o w‘:cLe/('/‘ev\c) /V\ma")/
J}om?z wo‘flwp w:’# W?JM%WJ//S reguired @ minimum

oﬁ Sa‘omgﬂ, floaa.bymﬂm. \/,‘@z %
%\
¥ £
6%/&}«&/{ ‘}N'c«ﬁ&‘ All wﬁ&x ore e,yaJ ond Hhar P -

Vodne = 5

———




(5)
PF&C‘J'I'C(. ‘
@) Compude, Fhe values of Hhe 5% is funcions ot
T od T
(b) Whet is He value of Sin(ZE) Compute. the
Volues o ol othe 711‘1] bunchians ot £Z! |
©) Repest (b) for the anj/,a 2L

d) Repeat (b) For #re emj&g L;,_E, 5T M OUT

3 ) 6 b 6

5) SWROJLX a)tﬂfwc\ op &I\Slﬂxﬁ This i M/ l;/n/)O/"%@\i_,‘/
Modee swe fo ;Jue[)/ #.omajU)z_ |

We wish £o codeulste Cos (p-o) n Ferms of Sinet | (os K
Si'nﬁ, Co,/.,' Amomxyn*’j #;aujli S}wau onVinca, Youx 7L2.d

Cos (ﬁ' = -Cos()  For ,'nr}ma
1 = (s(0-0) # Cos(0)- Cos(0) = 1-4 =0. Don? S'}ef’ oNn




(€)

e Picture »HM)'/“J:(X the same 7[""&/\5’(1 in ditrerent
pas:#ony, Tho oAt ’L""""f(* is Sel witl one le ot

eun av\j(z % ond the ofhu &3 ot on m]& A wh"i m/ﬁeﬂl
fo the x-ax's. The nj‘% %N'anﬁ’& resudts  when we
rotak. the lfd ‘/Tlowjlﬂ until s L &17 Is ﬁ/ﬂtof\

the X- &xJS ‘

* The le(x Pt s fne)/mfﬁug in botl, f/'c?lW‘e,g‘

¢ Db youn See )ww 7%6 Coo/‘J/'/\“JOZ were Zﬂvéu

In fFerms of $in cnd Cos? NL)’? Pher to The F"fﬂlw‘ﬂ
on /06\?& 5. 7/£ Y ol s*i“ J@/# unlur}cm} move o #\4
next Eulwpo»"ﬁﬁ, Comz bade B conbugion /)e,/‘S,'g‘}g'

o T+ Follosos brom the distance — 71‘[\416

C'2= (COS/%‘CDS“)’z'f' (S:'W/B-S/no/)g =
= Cog’z/s - RCoS > (os ¢ + G5’ + S;'n’_/% =R Sinp Sined + §i

= R -Q(Coﬁﬁ Cosd + Sa'ﬁ/% SI'/)D()
Lohere, we recod| ot Lose +§in* = 4
On He ohher Aﬂr-J, Com/nué}\S c? From /Az ﬁ{jm on
Hhe I‘fjls‘t resudfs in 5
2= /(&,;(/&»N\) S/n(/a—x\\ - (hfﬂ) = (CaS (/5—»?)-!) + Sin(p-)
= Clp-x) - 2Cos (px)+ 4 + Sin? (pw)
= R- Rlos(p—x)




(%)
giwmj the Fwo FN”’WX Por Cz, we oL‘}m}n

2 - ;\( Cog/n, Cos X + Sf'npst'nx) = RX-A Cos([&-X\
So/u/n,g Pof CoS([B‘N), we OL"/'“;’?
Cos(/’:-o?) = Cos plos¥ + SinpSin

7 S

This Pormu,{ﬂ\ ,'mlvltlu H\Nt
Cos (£-8) = @%\{'{ (o5 6 +\S=}'r3i§ Si'n O
= Sinb
I ot words, Sin oF Anyll &/\71& quﬂv(s' to
Cos (%E—Mcnj(;.)_ “
Thus, we ofso obsrre

S/n(:g_—-—t9> = (o5 (%‘L%—B:)) = (o5 6

L/N

oy le - +Aa:l'e«~5[a |
Hes N/
3
Cos (E-6) = Sinb Gs(E-9)\ g9 | 5P
Sin (E-8) = CosB N o3 6

This mfjli hove  been }@M#'w}(y Aaos Lo
"‘LL fI'C‘}M»/‘Q‘ L\/e, w:’” f?N*' #\@S& grmw(pu, ”'o Uie 1N

[/ 8 Vnormz/ﬂ,’,



(8)
First
Cos f)+0()— (os (/’J (‘“)> &Sﬁ &JS(’D(>+ Sm/ﬁ,&,n/(:’\l

_CDS"( ==SinK
= Cosp Cosx = Sinps Sinx
Now |
Sin(p+x) = Cos(:'z’:*[ﬁﬂ(]) = G)S(%’f'ﬂ]-x)
= G Pt + S0 (E-P)Sinw
= Sinp = Cos 3
= Sinp Gsx + 8érp Sinx
Sin(p-x) = §fn(/3+(-—p()> = Sin s Gos ) + &Sﬁm\
= s = =SinK
= Sl')')/’) Cosix - Cos/ﬁg;'np(
Hoe ore the  Formudos ajm/h
Cos (pi) = Cosp osect Sinpy Sfﬂ
(o {ﬁ—f—NB = G)S”; Cosx -glh/), Sin
S:‘n ([5—0(\ - Sl‘f)/b G)SK- Casl‘; S/no(
Sin (/),—f-p(.) e Sr'nﬁ Cos + &S/& Y/m{

_—




(9)
An I!IMII\QJ')%L CO/’SQLLQA(X 5

| Cos@B)= Cos(8+8) = Gos*6 - Sin?D
= I‘;ZS;V)RQ
= R Cos?8 - |

Sin [26) = RSinb (os6

’PI"&(,‘VI'I,CL

Can y ou lome o Simf/a\/‘ formido. For ‘);047/)3-0())
Lon(p+x) ten(R8)7

Hd?—mj&, formudas ﬂ

Notice Hhat Cos(0) = (os(2-8) =R (os*(4)-4
Thus (asa 4) = I+CoS(9)
Similarly Cos(8) = Cos (2 £) = |-254°(%)
s[5 ) = G2

Ex. Gm wk Sin ()

; co (2F) |- Cos(:E\ I-%& _ R-VT
Sin' (F) = : = 2 - T
\/—
Rﬂn’)u_ Sln(
Ffﬁcﬂl/(x

Find exack vale of Sin(E), o (B), tan(FE)



(10)
EnJ/mS the Am'm#wx ap tr "j puf}alfwi

J /, Sin (X'f‘l\) - Sin (%)
T

dx Sinx = e N
_ Sinx (os h + CosxgmL~S\><
k'—~>o
= ,w, Smx’ﬁ'cxx,
hi—»o
ookg [y Les
ST S
As we shall see. /A”L;fs‘f S, ama/}/:»2_7’09";"l =1

These. ove not Sﬂmp[lx )lffm:)S. Tkkr'ﬂg H,is For7/w=}<p/
Foit amomm‘ﬁ, 7 ﬁ//owi Hot
L_i" Sinx = &SXJ

HVLIhL

Sinh
l. &” —'O aﬁbj } L ::i
Asswm,h& - h. W

o Hoat }j"; Cos = =Sio. |




(1)

HMI'Y\j e/z’}'cvé/,’s[\zgj 'H\ajl; QAIS:'nx= losx  and J‘—;';Cosx
= - S/nX (,J(’J}d —H\.b JNI'WGLM’A ap 07L/'\Lr FM(,‘IL/'QAS uJIJL

esLe
Qu o‘{ie,\—l- Puts,

d _sl_ Sinx CoPx + Sin®x

= — R

T Ces®x Secx.
J d [ _ Gsx0 —(-S;’nx)-{ _ Sinx
I Secx = dx Cosx Cos®x CoRx

S/ X
= Co:x . Colsx - LLW?)( Secx

Pmdlfm

5s+aL/:”sL the. pofmm,(a.;, Por ﬁ- Csex | ji; (ot

Ex. c,%— (x‘imx) — 2xtanx + X Sedx by /)/‘oe]uct'

rule J ( Sec % >= (14+3%) Seexfanx — Rx Secx )
Ix | 14X (1+x*)* 4
$MIM+ nde. .
L s = €= €Sinx Ly producd
rle .
f I‘ac"[ 173 1) jl; (X ﬁ)‘ﬁe‘nx>

2) a%:—(?xz—gecx + Secx CSCX)

J Cosx Eon X
5 f( )
dx \ e*+5x*




